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Mitosis vs Meiosis Assignment

In each blank, indicate if it is meiosis or mitosis being described:

1. M fl‘ No pairing of homologous chromosomes takes place
2. M. ¢ Produces two daughter cells

3. M (F Takes place with one celled organisms

4. Meio Forms gametes in eukaryotic cells

5. Mf'l‘o The chromosome number is reduced by half

6. Moo Forms egg and sperm cells

7. Mit Occurs in most types of eukaryotic cells

8 Meis Maintains the chromosome number

9 H €10 Homologous chromosomes are paired

10. [fe (o Two divisioﬁs take place

11. Meso Four daughter cells are produced

12. Mi# Daughter cells are identical to parent cell

13._ MNeio Daughter cells are different from each other and from parent cell
14. Mt One division takes place

15. What two events determine the number of chromosomes that make the outcom
of mitosis and meiosis so different? 2 divistans ¢ [ mar
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16. Describe the embryo resulting from sexual reproduction if meiosis resulted in the
same number of chromosomes as with mitosis.

Eacn fﬁt—um*):c— would havt a A\‘ph’A Norrloey = o«spn‘.nj wesld
bave ARasweny as pavent.
17. Why is crossing over important in sexually reproducing organisms?
Inureases !Rwid'&-\» A%,\x.rsi)aﬁ by alloviing alledes o be

exchanted whn a lmvm‘ujous-tpair.



